

9

~~Adding~~ Plugging in The constant gives

$$y(s) = \frac{50}{s} + \frac{519}{s^2} + \frac{31/81}{s-9} = \frac{2}{s-1}$$

By taking The inverse transform The

$$y(t) = 50 + \frac{5}{9} (1 + \frac{31}{81}) e^{2t - 2t}$$

10 15424

### Rules of Differential equation

Q1 part 1 } The second order differential equation is written as  $ly'' + my' + ny = c(x)$ .  
 The equation is called homogeneous if  $c(x) = 0$ .  
 The other non-homogeneous equation is called non-homogeneous. To solve a non-homogeneous equation we associate the associated homogeneous equation.

Q1 b solve the following 2nd order linear homogeneous non-homogeneous differential equation

1)  $4y'' - 6y' + 7y = 0$   
 sol

First finding  $\sqrt{\quad}$

$$4A^2 - 6A + 7 = 0$$

$$A = \frac{6 \pm \sqrt{(-6)^2 - 4(4)(7)}}{2(4)}$$

$$A = \frac{6 \pm \sqrt{36 - 112}}{8}$$

$$A = \frac{6 \pm \sqrt{-76}}{8}$$



Q4 solve the following IVP using Laplace Transform.

$$i) \quad y'' - 10y' + 9y = 5t \quad y(0) = -1 \quad y'(0) = 2$$

First factor from every term

$$A \{y\} 10A \{y\} + 9A \{y\} - A \text{ is } t$$

By formula

$$s^2 y - sy(0) - y'(0) - 10(sy - 1) - 9y = 5/s$$

Now put initial condition

$$(s^2 - 10s + 9)y(s) + s + 2 = 5/s$$

solve for  $y(s)$

$$y(s) = \frac{5}{s^2(s+4)(s-1)} + \frac{19-s}{(s-1)(s-1)}$$

$$4(s) = \frac{5 + 12s^2 - 5^2}{s^2(s-1)(s-1)}$$

The Partial Fraction of Transform will

$$y(s) = \frac{A}{s} + \frac{B}{s^2} + \frac{C}{s-1} + \frac{D}{s-1}$$

$$5 + 12s^2 = \text{Let compare}$$

$$s=0 \quad 5 = 4B \quad = B = \frac{5}{4}$$

$$s=1 \quad 16 = -8D \quad = D = -2$$

$$s=4 \quad 248 = 648C \quad C = 34$$

$$s=2 \quad 45 = -14A + 434 \quad A = \frac{389}{8}$$

Define Laplace transform along with example.  
Find the Laplace of  $\frac{1}{3t^2+1}$  and the  
inverse Laplace of  $\frac{1}{s^2+16}$ .

$$f(t) = 6e^{-3t} + e^{2t} + 5t^3 - 9$$

Sol  $F(s) = \frac{6}{s+3} + \frac{1}{s-2} + \frac{5 \cdot 3!}{s^4} - \frac{9}{s}$

$$= \frac{6}{s+3} + \frac{1}{s-2} + \frac{30}{s^4} - \frac{9}{s}$$

Answer

$$g(t) = 4 \cos(4t) - 9 \sin(4t) + 2 \cos(16t)$$

Sol

$$g(s) = \frac{4s}{s^2+16} - \frac{9}{s^2+16} + \frac{2s}{s^2+16}$$

$$\frac{4s}{s^2+16} = \frac{36}{s^2+16} + \frac{2s}{s^2+16}$$

Ans

iii  $h(t) = e^{3t} + \cos(6t) - e^{3t} \cos(6t)$

$$H(s) = \frac{1}{s-3} + \frac{s}{s^2+36} - \frac{s-3}{s^2+36}$$

$$\frac{1}{s-3} + \frac{3}{s^2+36} - \frac{s-3}{s^2+36}$$



$$\lambda = \frac{6}{8} + \frac{2\sqrt{19}i}{8} \Rightarrow \lambda = \frac{3}{4} \pm \frac{\sqrt{19}i}{4}$$

$$\lambda_1 = \frac{3}{4} + \frac{\sqrt{19}i}{4} \quad , \quad \lambda_2 = \frac{3}{4} - \frac{\sqrt{19}i}{4}$$

so it has the complex conjugate roots

$$a_1(x) = e^{\lambda_1 x} \cos \lambda_1'(x)$$

$$a_2(x) = e^{\lambda_2 x} \sin \lambda_2'(x)$$

$$y = c_1 e^{\frac{3}{4}x} \cos \frac{\sqrt{19}}{4} x + c_2 e^{\frac{3}{4}x} \sin \frac{\sqrt{19}}{4} x$$

Ans

Q1 b)  
ii)

$$y'' - 4y' - 12y = 3e^{5x}$$

Sol

The characteristics equation and its roots

$$y^2 - 4y - 12 = (y-6)(y+2) = 0$$

$$y_1 = -2, \quad y_2 = 6$$

The complementary solution is then

$$y'' + 14y' + 49y = 0 \quad y(0) = -1$$

sol The d/e and its root

we

$$y^2 + 14y + 49 = (y+7)^2 = 0 \quad y = -7, y = -7$$

The general sol and its derivative are

$$y(t) = C_1 e^{-7t} + C_2 t e^{-7t}$$

$$y'(t) = -7C_1 e^{-7t} + C_2 e^{-7t} - 7C_2 t e^{-7t}$$

Putting in the initial conditions

$$-1 = y(-4) \quad -4C_1 e^{28}$$

$$S = y(-4) = -7C_1 e^{28} + C_2 e^{28} + 28C_2 e^{28}$$

$$= -7C_1 e^{28} + 29C_2 e^{28}$$

gt given the following cont by solving

$$C_1 = -9e^{-28}$$

$$C_2 = -2e^{-28}$$

The sol for LVP is

$$y(t) = -9e^{28} e^{-7t} - 2t e^{-28}$$

$$y(t) = 9e^{-7(t+4)} - 2t e^{-7(t+4)}$$

Ans

Q2 solve The ~~follow~~ following IVP for The 2nd order linear equation

$$1) \quad 16y'' - 40y' + 25y = 0 \quad y(0) = 3 \quad y'(0) = -9/4$$

Sol

The characteristic equation and root are given

$$16y^2 - 40y + 25 = (4y - 5)^2 = 0 \quad y_1 = 5/4 \quad y_2 = 5/4$$

The general solution and its derivative are

$$y(t) = c_1 e^{5t/4} + c_2 t e^{5t/4}$$

$$y'(t) = 5/4 c_1 e^{5t/4} + c_2 e^{5t/4} + 5/4 c_2 t e^{5t/4}$$

Now Put it in The initial position

$$3 = y(0) = c_1$$

$$-9/4 = y'(0) = 5/4 c_1 + c_2$$

The solution for IVP is then

$$y^t = 3e^{5t/4}$$

Ans



$$y'' - 8y' + 17y = 0 \quad y(0) = -4, y'(0) = 1$$

sol.  
The characteristic eq and its roots are

$$y^2 - 8y + 17 = 0$$

$$y = 4 + i$$

$$y = 4 - i$$

The general sol as well as derivative is

$$y(t) = c_1 e^{4t} \cos(t) + c_2 e^{4t} \sin(t)$$

$$y'(t) = 4c_1 e^{4t} \cos(t) - c_1 e^{4t} \sin(t) + 4c_2 e^{4t} \sin(t) + c_2 e^{4t} \cos(t)$$

$$y(t) = 4c_1 e^{4t} \cos(t) - c_1 e^{4t} \sin(t) + 4c_2 e^{4t} \sin(t) + c_2 e^{4t} \cos(t)$$

- By applying the initial condition gives

$$-y = y(0) = c_1$$

$$-1 = y(0) = 4c_1 + c_2$$

so the sol is

$$y(t) = 4e^{4t} \cos(t) + 15e^{4t} \sin(t)$$

Ans



Q2

113)

~~solve~~ The  $y'' - 4y' + 4y = 0$   $y(0) = 2$   $y'(0) = -8$

solve The characteristic equation for this DE is

$$y^2 - 4y + 4 = 0$$

The roots of equation are

$$y_1 = 2 + \sqrt{5}$$

$$y_2 = 2 - \sqrt{5}$$

The general solution to the D.E

$$y(t) = c_1 e^{(2+\sqrt{5})t} + c_2 e^{(2-\sqrt{5})t}$$

Applying initial condition along with derivative

$$y(t) = c_1 e^{2t} \cos(\sqrt{5}t) + c_2 e^{2t} \sin(\sqrt{5}t)$$

$$y'(t) = 2c_1 e^{2t} \cos(\sqrt{5}t) - \sqrt{5}c_1 e^{2t} \sin(\sqrt{5}t) + 2c_2 e^{2t} \sin(\sqrt{5}t) + \sqrt{5}c_2 e^{2t} \cos(\sqrt{5}t)$$

$$-8 = y'(0) = \sqrt{5}(2) = c_2 = -8/\sqrt{5}$$

~~solve it~~

$$y(t) = -8/\sqrt{5} e^{2t} \sin(\sqrt{5}t)$$

Ans